321
1., ————=7 4. x ¥y }=>x=?
3 x—3y=0

A6 B)-3 C)-1 D1 E)3

abc,abc_l_ 111 54 =9 5 XZ_J’Z:S}:)xz +y2 =7
a,bcabc 11 o T oxy =417 '
A)110 B)100 C)54 D)33 E)21 A)9 B)v85 C) V90 D)3 E)11
\/ﬁh/% - ’) 2 — é _3_7
3. TTeo—vis 6. o= 3= (a) =7

6 6,1 V61 11 12 A)27 B)9 C1 D)-9 E)-27
A Bl O PIe B

L Yos lovers



7. m,n,s, t k,p €Z*,

44 | m 57 | m m|n
t S k
n —11 p
=p=?

Al B)2 C)3 D4 Ep

8. a,b,c pozitif tam sayilar ve
2a=b
5c=4b
olduguna gore, asagidaki
siralamalardan hangisi dogrudur?

If a, b, ¢ are positive integers and
2a=b

5c=4b

Which of the following sequences is
correct?

@B@ﬁ@uq\mi a, b, coedS oS
?@M AUl lanlal) (e

A) a<b<c B) a<c<b C) c<a<b
D) c<b<a E) b<c<a
L

9. Bir malin fiyatinda indirim yapildiktan

sonra bir giinde satilan mal miktar
%25 artarken satislardan elde edilen
gelir degismedigine gore, ylizde kag
indirim yapilmistir?

If the amount of a good sold increases
by 25%, but the income remains the
same after a price discount on that
good, what is the percentage of the
discount?

& % 25 dowiy dalu (e glo Lo 2oy oIS 1Y)
€ adal \\Mweﬁ‘(p&"' b8 oKLl

A) 20 B) 22,5 C) 25
D) 27,5 E) 30

10. A={a,b,c,d,e,f} kiimesinin en az 4

A)d

elemanli kag tane alt kiimesi vardir?

How many subsets with at least 4
elements does set A={a, b, c, d, e, f}
have?

A={a,b,c,d.e,f}
) oo duY Lo g sinide fde gana oS
¢ eV e sendll odgd yualic

B)7 C15 D)20  E)22

Yos lovers



5% =9
11. = x.y =?
9Y = 125} XY

A)3 B)5 C)7 D)9 E)11

12. x,y € R,
(x+y—15)2+(x—y—3)2=0
=>f=?
y
1 1 2 3
A= B)= C) = D)1 E) -
)3 )2 )3 ) )2
13, ¥z _ L:wz?
b a.b.c

A)6 B)8 C)12 D)24 E)48

i2017—i2016

2 _ L S—
4.7 =-1 = j2019_;2016

A)3i B)2i C)-3i D)2i E)i

15.

2018! — 2017! s

z=12017 = 50171

A)z B)z+1 C)z.2017! D)z! E)z:2018!

16.
(10101010), = (2a2)g = a =?

A3 B} CB5 DB EY7

Yos lovers



17.4x% —3x2 +5+x.P(x) =3x3—x%2+5
= P(x) =?

A) 3x3+x%+5 B) -x*+5  C) x>-x+5
D) -x?+2x E) 3x>-5

18.P(x) = 3x3 —2x?+x+3
polinomunun (x — 2) ile boliimiinden
kalan nedir?

What is the remainder after the
division of P(x)= 3x3-2x?+x+3
polinom to x-2?

23 g3al) et dand (e (AU 8 Lo

£x-2JP(X)= 3x3-2Xx2+X+3

A21 B)15 C7 D)5 E)3

19.a.b >0, a’2.b<0 =
|b|—|a+b|—2_7
2—a o

Aa B)-a C)-1 D)2 E)b

20. f(abc) = a?) =

£(123) + £(231) + f(321) =?

A7 B)I8 C)19 D)20 E)21

21. Sekildeki tarali bolge A X B nin
grafigidir.

The shaded area is the graphic of
AxB

AXB Al zeaa sl o ALkl Aabind)

Buna gore A X B kiimesi
asagidakilerden hangisidir?

Then, which of the following is the
AXxB set?

A{xy): x,yeER, [x—1|<2, |[y+1] <1}
B {(x,y): x,yER, |x+1|<2, |y—1]<1}
O{xy): x,yER, [x+1|<2, |[y+1]<1}
D){(x,y): x,yER, [x—1|<2, |ly—1| <1}
EY{(,y): x,yER, [x—1|<2, |y+1] <1}

Yos lovers



22. Bire-bir 6rten f : R — R fonksiyonu
igin
(fofHAx—-3)=5

ise x=?

Iff : R— R is bijection and
(fof -1)(4x-3)=5,

then x=?

ALE) A e f R — R <S¢
=x0) (fef H(Ux-3)=5

A3 B)2 C)1 D)1 E)2

23.

1 y=hix)

4/ 4

Yukarida grafigi verilen f fonksiyonu
icin asagidakilerden hangisi yanlistir?

N

Which of the following is wrong
about the f function given in the
graphic above?

Al Uasl) sn L e IS5 Gl ausl
Solle | i sall

A) (fof)(4) =1
C) f(=Hf(2) <0
E) (fof)(=3) =1

B) (fof)(0) >0
D) f(-=Df(1) <0

aecb=a-—b»

a

24. a*b—;
aAb=a.b

=90 [(6%3)A2]=?

A3 B)Y4 C) D)6  E)7

25.

A B

A

C '60
XD
120/

Yukaridaki sekilde [BA // [EF olduguna gore
m(CDE)= x kag derecedir?

If [BA // [EF, then m(CDE)= x?

¢ M(CDE)= x s ([BA // [EF i 13

A)60° B)65° C)70° D)80° E)90°

Yos lovers



26.

Yukaridaki ABCD dikdortgeninde
|AD| =|DE|=3cm ve |AF|=3:|FB|

ise ECBF yamugunun alanm kag cm?
dir?

According to the ABCD rectangle
above, if |AD| =|DE| =3cm and
|AF| =3:|FB|, then what is the

shaded area of ECBF trapezoid in
cm??

il 13 ¢ Ao 3 ABCD Jakaiosall U

JSal dalise o Lo ladind ¢

A)5

i< 5 |AD| = |DE| =3cm
AF| =3-|FB|
$2au L ECBF  <aaiall il Jlkaal)

B)% C)% D)11 E)15

A K B

Yukaridaki ABCD paralelkenarinda;
[cK], C agisinin agiortay,
5:|AK|=3:|KB| ve C(ABCD)=78
birimdir. Buna gére |DC| kag
birimdir?

According to the ABCD
parallelogram; [CK] is bisector of C
angle, 5-|AK| =3-|KB| and
G(ABCD)= 78 units. Then how many
units is |DC| ?

[CK] ol :ABCD g3l (5 3l sial dunsilly

aill i€ ) «C (5510 Ul Caaia
C(ABCD)=78 5 5:|AK|=3:|KB

?|DC| Ao o Lo didiad

A)20 B)24 C)25 D)28 E)30

Yos lovers



28. Yandakenar D c
uzunlugu 4 cm
olan ABCD
karesi F
goriilmektedir.
[CE] dogru
parcast, O
merkezli
yarim ¢embere F noktasinda tegettir.
Taral1 bolgenin alani kag cm? dir?

o) B

The side length of the ABCD square
on the right is 4 cm. The line segment

[CE] is tangent at F point to

hemicycle with O center. What is the
area of the shaded region in cm??

4 dalia Jsh ABCD e b suall
Aoy F Akl e das 5 [CE] ol &
Aalie? o oS0 S el 33 i) Caaail

?«]”. n ....I . n

A)9-2x B)10-2x
D)12-27 E)13-2x

C)11-4x

29. A(1,2) noktasindan gegen ve egim
acis1 120° olan dogrunun denklemi
asagidakilerden hangisidir?

Which of the following is the equation
of the line which passes through A(1,
2) point and has an inclination of

12007
adadill (e yay A ball daladl) oo W
£120° Jadlda 04l 5 A(1, 2)
A)y=—/3x++3
B) y = —V3x + V342
C)y =vV3x—+3

D)y = 3x —/3+2
E)y =—V3x—+3-2

30. Asagida verilen denklemlerden
hangileri reel diizlemde bir cember
gosterir?

Which of the following equations
represent a circle on real plane?

e 3 ) s N Y sl (e
§ dall 5 sl

l. X2+y2-3x+5y+7=0

1. X2+y?+2x-6y-7=0

. 2x*+2y?*-4x-3y+7=0
IV.  x?+y2-3xy+5x+5y-7=0
V. X2+2y?-3x+5y+7=0

A)lvell B)lvelll C)llvelll
D)II velV E)IVveV

Yos lovers



31.

a

Yaricapi r olan daire ile bir kenar
uzunlugu a olan karenin alan1 birbirine
esittir. Buna gore dairenin ¢evresinin
karenin ¢evresine orani nedir?

The area of the circle with radius r is
equal to the area of square with one
side length of a. Then, what is the
ratio of circle’s circumference to
square’s circumference?

ol Aabiadd A slaa 1kl €135 5303 aliae Coua

Tana 1 5l Jagne s & Leb g daliia Jsha g3

?@JA\
I Vi T Vr
AL BE OY DY EYS
log, 64 | logs 125 _9
" logz81 = logy16
A2 B2 0f D2 g3

33.log,(641log, 81) =4 = x=?

A)6 B)5 C)4 D)3 E)2

34.l0g:8 =x = logy24 =?

Ax B)3x C)= D)= E)=-
35. lim ©=*=% =
x—3 Xx-3
A2 B0 C1 D5 E)o
Yos lovers



36. f(x) =e*cosx = f" (g) =?

A) —e3 B) —es )0
D) es E)es

37.f(x) = [ (x? =2x+ 1) dx,
fB)=5 =7(0)=?

A)2 B)l1 CO0 D) -1 E)-2

31

38. [* sin 2xdx =?
2

A-2 B)-1 CO0 D1 E)2

30.

y=x+2

v

A) = B): O

D) < E)

o |G

Yos lovers



40.A=[; _42]=>A'1:?
sl d eaG
o2 i o[ il
5% 1l

L Yos lovers



41.
[ ] L 1
HEENN OO0ond
sekil (a) sekil (b)
Figure (a) Figure (b)

Bir is¢i dikdortgen seklindeki bir levhayi Sekil
(a) daki gibi dort esit parcaya testere ile 12
dakikada b6lmektedir. Bu is¢ci ayni levhay1
Sekil (b) deki gibi 5 esit pargaya ka¢ dakikada
boler?

A worker cuts a rectangle plate into 4 equal
pieces as in Figure a with a saw in 12
minutes. How many minutes does it take for
the same worker to cut the same plate into 5
equal pieces as in Figure b?

Ll R f ) (2) S G s sl Jule 5

138 oLy 4880 oS 8 4380 ]2 (5 piud Baa 8 4y gluia
€ 4 sl aludl dsas ) (b) JSall T g a5l Jalal)

A)12 B)15 C)16 D)18 E)20

42. MHGRSYMHGRSYMHGRSY' ...
harf dizisinde 142.harf agagidakilerden
hangisidir?

What letter is the 142" in the
following combination of letters:

MHGRSYMHGRSYMHGRSY...
ALl 4 142 4 5 Casliay 3l Gapall g L
$Janyl

AM B)H C)G D)R E)S

43. Saat 10:15°te akrep ile yelkovan
arasindaki kiiciik a¢1 ka¢ derecedir?

What is the degree of acute angle
between the hour and minute hands
of the clock at 10:15?

G il B psall A g 3l ded o Lo
91015 delull xie cileludl e 5 sl

A) 141,5°
D) 156,5°

B)142 5° C)150°
E) 157,5°

Yos lovers



44,

8 7 5 9
6 9 0] X
7 8 5 6
2 2 1 3

=7

A5 BB C)7 D8 EQ

45.

| e |- |
a2 || OB
Lad | P4 L | S
=S ET LS

X yerine asagidaki sayilardan hangisi
gelmelidir?

Which of the following numbers should
replace x?

i) X e Yoy canliall 85l 8 e

A4 B)5 C6 D)7 E)8

46.

c-8

[z E-

-6

o |T|® |+

b+2

Yukarida toplama ve ¢arpma islemleri ile

tanimlanan tablolarda a, b, ¢ harfleri birer

saylya karsilik gelmektedir. Buna gore b” +c?

kagtir?

The tables above define addition and

multiplication, where a, b, ¢ letters refer to a

unique number. Then, b? +¢?=?

4 pad) Jghal) 88 g, b, ¢ Gaua 0o S e
b? +C° dad (& L e & oyl 5 aand) Slleny
*.‘;'LUL.A\ ol Cawa

A)13 B)19 C)25 D)3l E)37

Yos lovers



47.

aP b?

atb a.b

seklinde tanimli iglemlere gore asagidaki tablo
veriliyor.

The following table is given based on the
defined operations above.

8 Usaall 138 Lggdany 31 JSa 8 3oaaal) clyleall T

Jasyl
X Y
213
W Z
Buna gore
Then
SlAl s
x+y -9
w—z

A)17 B)17 C)71 D)71 E)-7

48.

. 243----> 20
Il. 832---> 30
1. 545----> 40
V. 446 ---> 40
V. 353 -2 X

X=?

A)20 B)30 C)40 D)50 E)60

49.

39

36

2 | 14

17

[ ]
(3
[ o)
e

X=?

A)15 B)46 C)52 D)66

A)l B)2

C)3

E)5

Yos lovers



51. 3,5,11,29,83,245%,... dizisinde x=?

If 3,5, 11, 29, 83, 245, x, ...
Then x=?

£3,5,11,29,83,245X,... Ausludl 038 & X 40 & Lo

A)549 B)552 C)684 D)731 E)773

52.

A)24 B)27 C)30 D)33 E)72

53. Dijital bir gostergede rakamlari
gostermek icin kullanilan ¢izgi sayisi
asagidaki tabloda verilmistir.

Rakam 0]1/2[3/4]5]|6]7[8]9
Cizgisayist |6 |2 |5|5]4]|5|6|3|7]|6

12 ¢izgi kullanilarak olusturulabilecek
rakamlari farkli en biiyiik 3 basamakl
say1 agagidakilerden hangisidir?

Following table shows the number of
lines to show the digits on a digital
indicator.

S
3
[op]
~
©
©

Digits 0(1]2]3

Number | 6 |2 | 5|54 |5|6|3|7]|6
of lines

What is the biggest 3-digit number
with different digits formed using 12
lines?

ALY el cuaadial ) L skl aae & 8
PO (NS PREN D g A R N [

e§)” 0|12 (3|4|5|6|7
e 6(2(5|5[4|5|6|3|7|6
L ghall

OSaall alac V) Calida 300G o8 ) ST g8 L
S (g Uad e ) aladinly 4l

A)641l B)782 C)872 D)941 E)98l

54.

A3 B} CB5 D)6 E)7

Yos lovers



51 17 E]

X=?

A)2 B)69 C)72 D)73 E)84

56. Asagidaki seklin katlanmasiyla
olusabilecek kiip hangisidir?

Which cube is the folded form of the
following shape?

o s sall IS pda aey JSi () Jaing S
ey

57.

Yukaridaki sekil katlandiginda asagidakilerden
hangisi elde edilir?

Which of the following is the folded form of
the shape above?

SN 0 g gl (KA ol dey e (i IS5

A) B) C)

9 9 @

58.

SAE)E)

Yukarida soru isaretinin yerine asagidakilerden
hangisi gelmelidir?

Which of the following should replace
guestion mark (?) in the pattern above?

Y dSle ) Ezr-"n-g daai il S ._5.-.‘.5| e

L
¢ =l

Yos lovers



61.

OO 2 |00 ..

Yukarida soru isaretinin yerine asagidakilerden O + <> =3
hangisi gelmelidir?

Which of the following should replace
guestion mark (?) in the pattern above?

A) B) 0
e i . 0xO 0xO ©=0
Al Al e Y daias G A 3l L
¢ =Yl D) 3
)

P 0+0  Ox0

62. )
| 1}
1234 |@ D QL
60. 1347 1{ ®QVA ise 1975="
A 2579| |@®DQ
- 2489 (@ ©L A
JANEE
N A 4+[4]=9 A ®ATe
8 =2 B) @1 AO
2|, C) R A0

D) @088

A4 B)5 C6 D)7 E)8 E) OB R

L Yos lovers



63. 65.

1 ][I
= =\ =\ I KAT | 417
=R =2 a2 ) TAY }{814
f e e e TAM | | 715
1:54] |2:38 |3:22)] | 4:06 X YAL | 419
= = = = ’

= == = = I. Gruptaki her bir kelime, 1l. gruptaki ile

= l—f 'l_f = sayilarla eslestirilirse MALATYA kelimesine
= = = = o karsilik gelen asagidakilerden hangisidir?.

X=? The letters in group I. match with numbers in
group Il. Then what is the combination of
numbers that matches the word MALATYA?

A) 450 B)5:00  C)5:08 de ganal) B AW S Qs IS 13 ganall i L
TMALATYA &S i o8 gl ]|
D)5:10 E)5:13
A) 9151471 B) 5191471
C) 7151941 D) 9171451
E) 7141591
64.
2022838
K0 | K| X8| X8
0 || 8|8
NI I IA 66.
O | X | 8 KUTU
? 9174
M M| ™ TAKT o152
0T 1594
Yukaridaki sekiller arasinda bir iliski 7393 2581
vardir. Buna gdre ? yerine hangi sekil LALE
gelmelidir? ELMA
Which of the following shape should KATILIM=?
replace question mark (?) in the
pattern above?
O g IS g1 AT ode | JISEYT (g ADle Sl A) 7154948  B) 7194548 C) 9174845
alefin¥) Aadle (10 Yy driai D)7394548 E) 9173538

A)l\84 B) 28 C)V%

D) Zg E) ZOO

L Yos lovers



67. 69. Asagidaki sekillerden hangisi
farklidir?

a % ? 9 g Which of the following shapes is

different?

]

falinall g b lae JS5 6
Yukaridaki semaya gore ? yerine
asagidakilerden hangisi gelmelidir?

Which of the following should replace
guestion mark (?) in the pattern above?

0o Yy amai o any L Lee JS o oDl ISl T
Saledinyl dadle

68.

x yerine asagidaki sayilardan hangisi
gelmelidir?

Which of the following should replace x in
the pattern above?

X (e Yo draad G ang b L )

A2 B)12 ()36 D)64 E)128

L Yos lovers



70.

Yukaridaki seklin saatin tersi yonde 45° derece
dondiiriilmiis hali asagidakilerden hangisidir?

Which of the following is the shape
above rotated by 45° degrees
counterclockwise?

45 eV 8 JSA e v ale Jeanin JSS
fhelull o jlie e

71.

Soru isareti yerine agagidakilerden hangisi
gelmelidir?

Which of the following should replace
guestion mark (?) in the pattern above?

Talgdind) Aadle (e Yy dnamal o) oy b L IS 6

Yos lovers



72.

Yukaridaki seklin icinde asagidaki sekillerden
hangisi yoktur?

Which of the following does not fit into the
shape above?

LAY SN 0 ga e AU JISEY (e

N B) ] C}[ ]

D) | E) 1 M

73.

Yukaridaki sekil asagidaki gruplardan
hangisi ile elde edilebilir?

Which of the following groups of blocks
are used to build the shape above?

(8 g sall Sl Lo’ 30 JISEY) (40 Ao gana g
el

A) B)

| |l
H/E N

D)

<

|
. .

-

Yos lovers



74,

O m O ] 2

Yukarida soru igaretinin yerine
asagidakilerden hangisi gelmelidir?

Which of the following should replace
question mark (?) in the pattern above?

5L (e Yy dmaal (o camy N JIKEYT (e
R P PAPE- ]

A) B) Q)

75.

[ S S o |
R |
;».+.+ -l-.-l-.{

L ATAYL A

».+ +.+ +.4
v-.-t- +.+.+ 4
0 00
(- o
PR
0. 00
Soru isaretinin yerine agsagidakilerden hangisi
gelmelidir?

b +.+ +.+.1
44

LS
o0 | ?
3

+04

)
(I S|
ILA...JLA.A.J

¥

Which of the following should replace
guestion mark (?) in the pattern above?

8 (e Yy dmai o camgy A0 QY (g 6
Salgdiny)

Yos lovers



76.

Yukaridaki sekil saat yoniinde 270 derece

dondiirtliirse asagidakilerden hangisi elde
edilir?

Which of the following is the shape
above rotated by 270° degrees clockwise?

270 eV 3 J<all Ly vie agle Jiasin (<G
fhelull o jlie aa

77,

E|[a ][4
gD 83D Db P )
v lalla

Soru isareti yerine asagidakilerden hangisi
gelmelidir?

Which of the following should replace
guestion mark (?) in the pattern above?

Salgdia¥) 5 L8] (o Yoy dxazi o) iy b Lae

A) B) (@)

v v v
o P34 |Poond
A A A

D) E)
v v
453 p dgh P
A A

Yos lovers



78.

Al @ © 2

Yukaridaki soru isareti yerine hangi sekil
gelmelidir?

Which of the following should replace
question mark (?) in the pattern above?

?e@uy\zjujqumoigﬁ@gleﬂ@

©® O ©
o ©

79.

Hje ¥V =n

Yukaridaki seklin verilen eksene gore simetrigi
asagidakilerden hangisidir?

Which of the following is the symmetrical
display of the shape above in the given
direction?

osaalllady e J<all Hhidl s L lae 0SS
Cadaall

o=ng
@ |

|I-.--l-
il

(m]e|A|m]
@

)] E)

[m]e[a]m
D
X

(m]|e|A|m

Yos lovers



8

e

Soru isaretinin yerine asagidaki sekillerden
hangisi gelmelidir?

Which of the following should replace
guestion mark (?) in the pattern above?

?e@y\zjmjw?qMQi%@Wdﬁgi

A) B) )
D) B

L Yos lovers
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